EEHE. PAMERUVHARERROER (FRJIEE)

(G5 tike e e Gl)) (BAr:h)
DA Hf.lllli.ln Hf.zllli.lzs Hi?E.Q Hfﬁ?u
e o WIS oty ERRE | A gﬁg ERRE | A gﬁg ERRE | A gﬁg ERRE | A gﬁ;_
Je¥gE |&55397 - TR
# &K |osrvr - FERK 1,188 356 0.3
FolLD - FERK 1,188 356 0.3
A F |b&iED - FERK 356 36 0.1
DEviEn AHX | FERK 356 166 0.5
B ®R |(P=vx - PR
DEviEn - FERK
® H |b&iEb - FERK
W |=eny - TR
Xz - PR
w8 |[=veby iRy | RERK 1,008 72 0.1
asehy & 8 | mEk| 1,992 72 | 0.04
avedy R | RERK 1,008 72 0.1
VebiEn & B | BBk
* | |=eny AHX | FERK
w A |[=vEdY AKX | HERBXK
HEODEH - FERK
2T O - FERK
F #E |=vehy - PR
B B |ty AHX | FERK 367 820 2.2
hEIZED - FERK
B |(=aveny — & | mERk
=D B | BEEX
asehy B oM | BERX
asehy W | mERX
B b |=vehy - PR
A ) |=vehY - FERK
# H |=aveny - PR
NFTFPy - TR K
s B |[=asehy RABK | FERXK 120 12 0.1
NYTE - FERK 120 12 0.1
= E |=vehy — & | mERk
R | wREX
¥ B’ |=veby - FERK 270 135 0.5
XXthY - FERK 270 122 0.5
& B |=veh) - FERK 300 216 0.7
DEvIENn - FERK 120 228 1.9
B MR |[=2vehy - PR
[ |=vehy - FERK
& JIl |eoehy - TERBK
wm M |eseny - TERBK
# B/ (e vhy - PR
B A |=vehy BrORE | mERBR
143D} - TERBK
HOEZA - FERK
X 4 |eoehy - TERBK
#t 4,008 216 0.1 1,327 1,521 1.1 240 24 0.1 3,089 915 0.3
LR 3 5 2 4

) EEIX, FRBEEBEALTHET,

1/2R=Y



e SCRE1) (BAr:h)
B P MR 4y ngé&; H?;Fli& _— Hi?ﬁﬂ _— kil R
LHEE | FAKE BlEE LHEE | FAKE B LHEE | RAKE Bl |

LyEiE |(¥55397 - FERK 612 408 0.7 612 408 0.7
# &K |osrvr - FERK 238 48 0.2 1,426 404 0.3
FolLD - FERK 1,188 356 0.3

A F |bEiEb - FERK 356 36 0.1
DEvIENn AHX | FERRRK 356 166 0.5

B R =% - FERK 119 95 0.8 119 95 0.8
DEviEn - FERK 356 249 0.7 356 249 0.7

® H |bEiEb - FERK 612 61 0.1 612 61 0.1
i % |=vehy - FERK 119 48 0.4 119 48 0.4
[Ee &2t - FERK 356 143 0.4 356 143 0.4

w8 |[=veby iRy | RERK 360 12 | 0.03 120 156 1.3 1,488 240 0.2
avedy & B | Rk 360 12 | 0.03 120 132 1.1 2,472 216 0.1
avedy iy | FERRR 360 12 | 0.03 120 144 1.2 1,488 228 0.2
DEvIENn & B | Rk 360 12 | 0.03 240 120 0.5 600 132 0.2

K B, |=ehy AHX | FERRRK 360 60 0.2 360 60 0.2
L I == D) AHX | FERRRK 360 60 0.2 360 60 0.2

HEODE - R K 120 0 - 120 0 -
2T O - FERK 120 0 - 120 0 -

T E |[aveby - FERK 360 96 0.3 360 96 0.3
B B |ty AHX | FERRRK 367 820 2.2
hEIZED - FERK 367 588 1.6 367 588 1.6

B R |[Aveby — & | mERRR 245 306 1.3 245 306 1.3
avehy OB | Bk 122 147 1.2 122 147 1.2
avehy & M| mERK 122 110 0.9 122 110 0.9
avehy = ¥ | mERX 122 159 1.3 122 159 1.3

B W |[=vedhy - FERK 360 372 1.0 360 372 1.0
A Il |=vesy - FERK 360 528 1.5 360 528 1.5
&' H |=vrehy - FERK 126 416 3.3 126 416 3.3
NF=FE - FERK 126 403 3.2 126 403 3.2

s B |[=asehy RABK | FERRK 120 24 0.2 240 36 0.2
NIVE - FERK 120 12 0.1

= ® |aveny — & | mERRR 259 13 0.1 259 13 0.1
R | EBX 130 13 0.1 130 13 0.1

¥ B’ |=veby - FERK 270 135 0.5
XXthY - FERK 270 122 0.5

& B |=veh) - FERK 300 48 0.2 600 264 0.4
DEvIENn - FERK 120 24 0.2 240 252 1.1

B R |=veby - FERK 360 48 0.1 360 72 0.2 720 120 0.2
i |=vehy - FERK 216 22 0.1 216 22 0.1
% )il |e/ehy - FERK 259 389 1.5 259 389 1.5
#w | |esehy - FERK 306 51 0.2 306 51 0.2
= B |eseny - FERK 221 410 1.8 227 410 1.8
B A& |=vehY BT OBR | mERRXK 324 1 0.03 324 1 0.0
|4 D) - FERK 324 1 0.03 324 1 0.0
FROSESA - FERK 324 1 0.03 324 1 0.0

X 4 |v/eby - FERK 324 0 - 108 43 0.4 432 43 0.1
#t 9,499 4,375 0.5 2,285 1,710 0.7 20, 448 8, 761 0.4

i A0t 36 9 46

) EEIX, FRBEEBEALTHET,

2/2R=2



